
Top of Pole Mount
Fit Check 

Solar Panel
Thickness

30mm
Std 100w Back40

33-37mm 38-42mm 43-47mm

MID CLAMPS Included Standard with  
Each Mid Clamp in kit

1x M6 x 45mm bolts

 

Customer Needs supply for 
Each Mid Clamp in kit (See 
Table A):

1(qty) M6 x 50mm bolt

Customer Needs to supply 
for Each Mid Clamp in kit 
(See Table A):

1(qty)  M6 x 55mm bolt

Customer Needs to supply 
for Each Mid Clamp in kit 
(See Table A)

1(qty) M6 x 60mm bolt

END CLAMPS Included Standard with  
Each End Clamp in kit

1x M6 x 16mm bolts

 

Customer Needs to supply 
for Each End Clamp in kit 
(See Table A)

1(qty) M6 x 21mm bolt
4(qty) ¼” ID x ⅝”OD x 0.05” 
Thick washers 

Customer Needs to supply 
for Each End Clamp in kit 
(See Table A):

1(qty) M6 x 26mm bolts
7(qty) ¼” ID x ⅝”OD x 
0.05” Thick washers 

Customer Needs to supply 
for Each End Clamp in kit 
(See Table A):

1(qty) M6 x 31mm bolts
10(qty) ¼” ID x ⅝”OD x 0.05” 
Thick washers 

Thickness

Width
Length

Max Solar 
Panel Width 

Small Panels
90w - 190w

Large Panels
200w - 320w

2P 21-¼” (2 panels) 43-¼” (1 panel max)

4P 21-½” (4 panels) 43-¾” (2 panels max)

8P 21-½” (8 panels) Not Recommended

REMOTE POWER
FOR FARMS,
RANCHES &

HOMESTEADS

+ DIY Adjustments

Table A 2P 4P 8P

Mid Clamps 2 6 12

End Clamps 4 4 8



Panel
Thickness

30-32mm
Standard 100w 
Panels in HR8

33-37mm
Standard Pro 
Panels in HR4

38-42mm 43-47mm

MID CLAMPS Included for Each Mid 
Clamp in HR8 kit

1x M6 x 45mm bolt

 

Included for Each Mid Clamp 
in HR4 kit (See Table A)

1x M6 x 50mm bolt

Customer Needs to supply for 
Each Mid Clamp in kit (See 
Table A)

1(qty) M6 x 55mm bolt

Customer Needs to supply for 
Each Mid Clamp in kit (See 
Table A)

1(qty) M6 x 60mm bolt

END CLAMPS Included for Each End 
Clamp in HR8 kit 

1x M6 x 16mm bolt
1x Reg End Clamp

Included for Each End Clamp 
in HR4 kit (See Table A)

1x M6 x 16mm bolt
1x XL End Clamp
 

Customer Needs to supplyfor 
Each End Clamp in HR4 kit 
(See Table A)

1(qty) M6 x 21mm bolts
4(qty) ¼”IDx ⅝” OD x 0.05” 
Thick washers 

Customer Needs to supplyfor 
Each End Clamp in HR4 kit 
(See Table A)

1(qty) M6 x 26mm bolts
7(qty) ¼” ID x ⅝” OD x 0.05” 
Thick washers 

Thickness

Width Length

Max Width Each Panel

Eight Panels HR8 20-⅞”

Four Panels HR4 42-½”

Scalable Ground Mount 
Fit Check

+ DIY Adjustments

VC1-HR8 VC1-HR4 VC2-HR8 VC2-HR4 VC3-HR8 VC3-HR4 VC5-HR4

Mid Clamps 14 6 28 12 42 18 30

End Clamps 4 4 8 8 12 12 20

Table A


